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203,524,0008 x 14] = 203,524
= 143,000
Al 60,524
03  A[ALSCHH| 1,476 2,000 A524
O 25 wEAIYAIT stz ZHISAL 1,476,0009x14] = 1,476
M SEEEE FH|IZAL 614,000 1,800,000| 1,186,000
=2 614,000
401 A|EH|Z RO 614,000 1,800,000| 1,186,000
o 614,000
01 AlAdH| 614,000 1,296,000 27682,000
O S=ld slpt2 ZH[SAL 614,000,00094x14] = 614,000
= 614,000
[Bl=2{2] 4> 2HO|E UZHEAAIA(BTO) 11,396,000| 10,241,000 1,155,000
=2 11,396,000
40T AlGH|ZSCHH| 11,396,000 10,241,000 1,155,000
=2 11,396,000
01  Al4H]| 11,396,000 10,241,000 1,155,000
O skrx{E|4= ZH0IE QIZHERAIAIZ(BTO)
11,396,000,000% x 1 Al = 11,396,000
o 11,396,000
sk SEe 6,168,000 7,350,000  A1,182,000
= 5,327,000
Al 841,000
ICAE] UHH| SHUR|AS 250 LALY 4,601,000 1,850,000 2,751,000
= 3,760,000
Al 841,000
40T AlGH|ZSCHH| 4,601,000 1,850,000 2,751,000
=2 3,760,000
Al 841,000
01  Al4H]| 4,230,000 1,693,340 2,536,660




[ Sttt |

OTZ [ 20|t @RO0FREE : 2HH(6), Mol
OFAIY © SieH2| V|PHE &S et IMO* Dol SEEE] @MIRAIY ¢ SRAAE| YHFH| SHUZRY Ar0|TAY  e=: (el - A
NECIEIETE T
- I
T2, ZOFFE, FALY, TRA L MIFALY, S MlS off 4+ <4 (;17| ‘.L__F ol sS4
O SAMAR| LAHE| SHAZIR|Y 20 LAY
4,230,000,0009 x 141 = 4,230,000
o 3,760,000
Al 470,000
02 Z2[H| 361,500 150,000 211,500
O A2 LddH| SHUR|AS 240 LAr
361,500,0008 x 14] = 361,500
03 A|-=ChH| 9,500 6,660 2,840
O SAMAR| LAHH| SHAZIR|A 20 LAY
9,500,000¢ x 14! = 9,500
mEAT S| SEARRY FHARY 1,067,000 5,500,000 24,433,000
=2 1,067,000
40T AlGH|ZSCHH| 1,067,000 5,500,000 24,433,000
=2 1,067,000
01 AlAdH| 1,067,000 5,046,250 23,979,250
O ZSAIT ot dH| SHAR|A|Y HHAKY
1,067,000,0008 x 14l = 1,067,000
= 1,067,000
ESUSA|T Sl dH| SRS HHAKY 500,000 0 500,000
=2 500,000
401 A|EH|Z RO 500,000 0 500,000
=2 500,000
01  Al4H]| 500,000 0 500,000
O SYUSAIT Sl dd| SHERAY ZBIAKY
500,000,0009 x 14l = 500,000
o 500,000
Sk | 2,449,500 1,176,000 1,273,500
= 693,000
= 346,500
Al 1,410,000
FA| =% ot U2 FURA 1,039,500 500,000 539,500
=2 693,000
= 346,500
40T AlGH|ZSCHH| 1,039,500 500,000 539,500
=2 693,000
= 346,500
01  Al4H]| 1,039,500 500,000 539,500




[ Sttt |

O7E  ZYZOJ  @RORER : (), M4

OG- S TS HE GG AR AM @MYL bl i HAE BE BUn @2 imvgy (@R 38
- Add
T EOLR HUAL T MIRALS, S IS do | GiSw | 3%
O OigeA| =& SR 22 ZURAK2024E)
1,039,500,0009 x 1,039,500
693,000
346,500
Ble MACIQ| Obz|HiZ| Fl4E ZHIAIY 500,000 0 500,000
401 A|[GH|ZEOHH| 500,000 0 500,000
01 AlAdH| 456,850 0 456,850
O g5 Mo Y (U] otk HH| At
500,000,00084 x 91.37/100 = 456,850
02 &2H| 40,000 0 40,000
O &5 Mo U AF|HUA| ot FH| ALY
500,000,0009 x 8.00/100 = 40,000
03  A[ALSCHH| 3,150 0 3,150
O &5 Mo U AF|HUA| ot FH| ALY
3,150,000 x 3,150
0% AS0E 224822 ZHISAt 100,000 0 100,000
M01  AlGH|ZRCH| 100,000 0 100,000
01 AlAdH| 99,100 0 99,100
O OB A=0ts 242 ZHIZA
100,000,000¢ x 99.10/100 = 99,100
03  A[ALSCHH| 900 0 900
O 0| AMZ0IE 22422 ZH|ZA} 900,0009 x 900
A3 ST HHAIY(RES) 550,000 135,000 415,000
40T AlGH|ZSCHH| 550,000 135,000 415,000
01  Al4H]| 546,940 135,000 411,940
O StS Sz U2 2412 INH3A
100,000,000 x 99.10/100 = 99,100
O GEES 715-1812| QLY @402 KH|ZA}
30,000,00094 x 98.92/100 = 29,676
O 83 234 o 24U2 FHIZA
30,000,00094 x 98.92/100 = 29,676
O QARATZ| LtAIEE ZHIZAL
20,000,00094 x 98.92/100 = 19,784
O EYUA2R BLaa2baAL 40,000,00084 x 98.92/100 = 39,568
O AHFZ S/ L B A|AR HX|ZA}
15,000,000 x 98.92/100 = 14,838
O =& 110582 Y s ZH| ZA
45,000,00094 x 98.92/100 = 44,514




[ Sttt |

O L EAL eorre 230, TS R - (el : 22
O | SNl U BB @TISAR SR HHl @HIPARY | A7S ST ZHAYTED) @2 : AlHaCy)
- Add
T2 20 E, ALY, CIA L MIFALE, 3 M1 Off 4F o °?I {I‘] ol s#
O SkS IF0S ofk FHIZAL
20,000,0008 x 98.92/100 = 19,784
O 2%, M2 otz 7|srithgd
100,000,000 x 14| = 100,000
O &5&, s LY 2YZAEY 50,000,0009 x 14| = 50,000
O E24 tis A 29 100,000,000 x 14 = 100,000
03 A|-=CHH| 3,060 0 3,060
O SMS Sz Ul oAu2 Ji2kaA} 900,0008 x 14! = 900
O HUES 715-1¢H2| Yo 2022 ZH[ZAL
324,0008 x 14! = 324
O 2 BEZeA o 242 AH|ZA} 324,0009) x 14] = 324
O QARITIZ| QAA|ME ZH|ZAL 216,000 x 14 = 216
O E8H2R B4EZTAL 432,0009 x 14| = 432
O AMFEZL Ars7im L HI AL H2|ZAL
162,0009 x 14! = 162
O =& 110582] Y sl HHIZAL 486,0008 x 14| = 486
O =g 2IF0IE Skt ZGHISAL 216,0009 x 14| = 216
TRIZIOI0lA HEDIAR2| SIEEAY(FER) 260,000 241,000 19,000
M01  AlGH|ZRCH| 260,000 241,000 19,000
01  Al4H]| 258,920 241,000 17,920
O 0/E3Z~0E=2 17t SIS20| Hx|FAt
40,000,0008 x 14l = 40,000
O 2SZ2FZSOME Qf HieZ H2IALY
20,000,0009 x 141 = 20,000
O E95 637 Y9 sk SO ZHIZAL
30,000,0009 x 141 = 30,000
O SAS MFA1 22 ZH[ZAL 30,000,0009 x 14| = 30,000
O £8% 135 442 H2|2At 40,000,0009 x 14l = 40,000
O StS SFHRR|T =22z HH| A
50,000,000 x 98.92/100 = 49,460
O St SFERR|T =5 Sk HH| SA
50,000,000 x 98.92/100 = 49,460
03  A[GSCHH| 1,080 0 1,080
O BihS SFHRZ|T 22z HH| JA
540,0008 x 14! = 540
O Stk SFERAE = sl HH| SAL
540,0008 x 14! = 540
Skrz{2| Aldae 3,800 2,202,000| 22,198,200




[ Sttt |

o2 : Z}=20j4t  @ROFREE : BHH(6), Holr-4E i}
OIUALY : Flpa2| J|EAIM B2 @CH IMO* DSl AlMER]  @MIBAIY ¢ IITEARIANE AMTACIARR]) @S 1 RMEHSH| (S5l - )
- 4
T2 20 E, ALY, CIA L MIFALE, 3 M1 Off 4F o °?I ,E ol s#
[SaotrAE|Ald AR AR 3,800 172,000 168,200
405  ARER|SH| 3,800 172,000 168,200
01 AMUSFZISH| 3,800 172,000 168,200
O 038522l TMSA S84 A|=7| 7ol

3,800,0009 x 1 4] = 3,800
2es 953,392 0 953,392
Bzt 953,392 0 953,392
eSS 899,208 0 899,208
802 Btelzg7|Et 899,208 0 899,208
01 =ZEFFEE 899,208 0 899,208

O O SF3H2|A|E SHAY 899,208

0 AMERIA 823,499,3008 x 14| = 823,500

o Oz} 75,707,2008 x 14! = 75,708
A |- H| 2 =g 8tst 54,184 0 54,184
802 Brelg7|Et 54,184 0 54,184
02 Al-=HEZZHelE 54,184 0 54,184

O O S3otre|Ald SEAY 54,184

OIN =l 48,871,4308 x 14| = 48,872

00|} 5,311,200 x 14 = 5,312
o8 [H| (A=) 255,990 255,990 0
Ojl6|H|(RF2) 255,990 255,990 0
015 H|(R-204|4H) 255,990 255,990 0
801  OfH|H]| 255,990 255,990 0
01  Etoj|d|H| 255,990 255,990 0

O 2024\A% ZH=0j|AH OfH]H]| 255,990,0008 x 14| = 255,990






